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Complee the seios 13, 13, 17,

Pt

S R, LCM & HOF,

onal Systom, B
: Exprossions, Linear equations & s Soutian, About Lines,
& typac m%ﬂm@m fwmu 5 property, Area & pefimeter argeanmnc

! chart, Bar graph.
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Horso is related to Maro as Bull s relmed 1o

() Animal ) Stabl (© Meat @) Cow
HE = 5, then CAT means.
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et cos of fiing o ectongule ld of Lngih 175m & ekl 2 o O o of Rs. 12 por

meter.
(@) Rs. 7000 ) R. 6500 © Rs. 7200 (@) Rs. 75007

i 2 208 3 15 by 0 e, What 1+ the ol o 0, o g 1o 0 T 0. of studeats
in the class.
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A spoed of 36 kv is the same as
(010 misec. ) 12 oo

(€ 1296 misee () 5600 musec
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7. Simplfy his

8 Find the square roo of 1223,

w2 )35 © 8 @ 13
9. The mumber x, x + 2 and x + 4 e all prime numbars. I
W x=2 blx=3 (@ x=5 @ x=

10, A train, 480 long, passaé 3 standing man fn 24 Shé: What {5 the speed of the train in kil
(@) 72 ki ) 24 kv (@) 20 kb (4) Noe of these

11, A person buys o scooter for Rs. 4500, For how much should be sell i 10 gt gain 847
() Re. 4100 ) Rs. 4860% () R 5000 (@) Rs. 40007

Find tho average wages of the 5 workers, whose dally wages are Rs. 80, 70, 120, 100, 110.
(o) Rs. 1005 () R o0 © Re. 96 (d) R 05"

12, Find the HGF of 16, 48, 72.
4 o ©@ 1 [

15, Which one is not ik tho other words in the group?
(o) March )y 0 August @ Apit

15, The average of even numbers from 1 10201 .
@ 12 o © 10 @ 10,

1.

) 718 ) o0 (© 588 (@ sz

7. Simpliy: 2-(2-(2-2-2))
® 3 w2 © 0 @1

15, Find the value of 6 - 5
o
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